X7 0N R P12 702

If it is according to the 3129 — 33277 29N ON

OVERVIEW

X2X °27 ruled that if a 05w W W damaged, the p1°1 may collect from the w2 but
not from [the w3 corresponding to] the 2m°K." The &n3 asked if X" is following
the view of the 1127 (who argue with jn1 '), then it is X0*wd that he cannot be 721
the P712°R 7312 7Ww32; why is it necessary for X"9 to teach us this 7°7. It is not clear
why according to the 7127; it is X0*wd that he is not 7213 from the 777X 7315 Ww2.
Our nmpoIn will cite s""wA explanation and refute it, and offer an explanation of his
own.

- (w1 1py) D99 P93 203 5397 1YY 519997 13297 KIYN X ZD903Da W
s"we explained the X7n3; ‘if the ruling of XaR ' concerning WPIw MW is

according to the 3129 who argue with 1'' in 579877 ?99; their argument is -
= 9109 9121 YY) NENN DOWN NYN UYAT [ONA] 99N 992D 19%30 GNTY IV %3

Concerning an ox that pushed another ox into a pit; where the 7127 maintain
[if the goring ox is a an] that the owner of the ox pays half the damage, and the
owner of the pit is exempt from payment. This is the ruling of the 1227.

»"w1 continues:
= 9321 Yyan oYNWN XY YN HyaNn MIYNYNRY NI 95 NIYN

It is evident from the ruling of the 7127, that when there is no complete payment
forthcoming from the = s w2 (the "W is merely a on and is liable for only a

1"1), one cannot receive the remaining payment due, from the 21277 Hv2 -
- “o1enn N¥0I 1AV 22 5Y 9N

"' Let us assume that the 2w 5w " (the P11 M) is worth $100. It caused $100 worth of damage. Since it is a an,
if it would be a v1771 5w W the owner would be liable for $50. Let us assume that there is 60% worth of w2 (or
$60) and 40% 71mR (or $40) in this 27w W, RaX 21 rules that the Wi %2 pays only $30; half of what he
damaged [the w2 did only 60% of the damage] which is $60 worth (the rest was done by the 1™ 1°R); since he is a
an he pays a 1"n, which is $30. We do not say since the P11 was damaged for $100 and (even) by a on he is entitled
to a 1"n which is $50, and the V777 w2 is worth $60, he should be able to collect an additional $20 ([half] the value
of the P X), for a total of $50, from the “w32; but rather the 121 suffers this loss of these $20. This is what is meant
that he is not P712°R TA1D Wwan 72,
% mooin quotes *"wA the way *"wA explains the X3 in 71197 P19; not the way *"wA is cited here. See 2".
? In order to facilitate the understanding of Mo, we will quote the XIm3 in 7797 9¥2 M2 1920 DX AATY W XINT
o°phn '3 OPWn M2 2Y2 IR TN 027 ROINM XA D9WR 2T S¥) AXmA 22WH W 2Y2 IR 1020 0D 2T S¥a 20 Wwh
JT¥IM2 X QN2 KO RWPp X? ¥°27 Wi v
* Seemingly since the dead ox was found in the 713, the 1 should be able to collect (something) from the M1277 7¥2,
by arguing that my ox died in your pit (as the X723 asserts later). Nevertheless ...
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And even though that the damaged 7w was found in the pit; nevertheless the pra
cannot collect from the 71277 5v3, and he must suffer the loss of a 11 >3 -
= 9139UD IND 1Y 129N 1239 199N N2 PPNT RVIV)

And therefore it is obvious that the ?1°1 cannot collect from the meat of the
°now (which is °%92 1) corresponding to the fats (which is 29p1 on the nam
and is WP 1mn)’.° This concludes the quote from *"v".

mooin first analyzes *"wA WID:
= 095 AWIY 1PN 9121 YA PINN DI AYIY NYAY IYIFION YNRYN

It seems from s""w" explanation that (in the case of 2% 17°an nX 7w W) the

=72 does the entire damage and the 71277 ¥2 does not do any damage at all -
- 91980 OM BYY P OYUN TN MY Ta5N

Therefore a 7y 2w pays the entire damage (since the 27 “va is not
considered a p°1n; only the M%) and a an pays a 11 321, The responsibility is only on

the w1 Hya.
- 19199 K9 *DNM NYN P790Y 981 NY 799

And therefore the X713 could not infer anything (concerning >Xin »27NWR? X3°7 °X
") only from the an (that even though the an pays only a pr1 °xn, the 11 cannot
recoup his loss from the m27 %¥2); but the X713 cannot infer anything from the
case of a 7Y (for since the 79 pays a w"1, there is no need to approach the 27 5¥2).
- 1IWY N1 (nx arr 0wy D990 PI92 1IPY NITHA WD 19
And *"v1 explained so explicitly® later in ;77577 P95 quote:
= TPayP RPN NDID NHVN HYAT 99209 DN NIPIYN N3 1929 Yan
However the 3327 follow the initial *>>7» and maintain therefore that the va
1277 did the entire damage; not the 1127 5v2 -
- O9I XYY (Nwh Hya) P13 98N DYYN DN OHY P BOOWN VYN Hya 1INl 7a5N0
Therefore if the W is a T¥% the 7w v pays a w''3, and by a an the "wi Sva
pays a 2''n, and the 171 loses half. He cannot collect his half from the M1271 va (who is not

responsible), for the 13127 maintain X1 22nWwn KXY “Ran M2NwR? X% °3. This concludes the
citation from >"w" in 7757 PID.

> The money that he could have collected from the 111K (if it were not a 127p) cannot be charged to the “wan pon.

% Therefore in Moo quote from *"wA, the word on (which is inserted in brackets) is mentioned. The proof is only
from on and not from T¥n.

7 In our text it is found there in *Xn 71"7.

¥ From the >"w" cited previously in Mmoo we can merely infer that only the " does the damage and not the 2.
However in 71977 1o there *"wA states clearly that only the 7 is considered a p*1»; not the M2.

% It was the 7MW that initiated the ?1i1; the P 1971 W pushed the 117 MW into the 72.

' These words are (seemingly) superfluous. In our *"wA there, the text reads 'X3?5 o>wn Mwn Y¥2 onaY. See 0" n.
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mooIn has a difficulty with >"w7s:
= 199990K 1235 DIVAN NAN PINRT P27 951 PNNY 199390 NYPH

And the >''9 has a difficulty with s""w9 explanation. How does the X713 infer

that according to the 13127 the 2171 cannot collect from the meat 731> the 1°92°N -
= XD OONY DNA DIV NN Hyan DHNYN NN

from the ruling that the pr1 cannot collect anything from the =127 %2 and he
loses half?! We cannot compare these two cases!

moon will now argue that these two cases (1w 25w and 121 AnTw W) are not similar; and
P°IIW 092w cannot be derived from anTw MW

- Y5 PPNN AYY XY NNV DIVN DN
For there (by 7n7w 7w) the reason he cannot collect from the ™27 Hv2 is because
the 712 did not do the damage at all (but not because 131 "212nwKR? X3°9 *D) -

= PN 19 M5 NYY YWanY DMndwa YaN
However by 1w 2om%w where the =wa (which belongs to the o°9v2) also
damaged (like the P17°X) there we can say -

= VAN 19 OYNYN PININD MMINYND NIIDT 119D

That since he cannot collect from the 3°992°R (for it is not 177¥7) he should collect
from the w32 (which is VY77 N).

mooIn anticipates a difficulty and resolves it. Seemingly we can explain *"w" as follows. Just as
by the M3, the 7277 H¥2 is MW because he did not do any damage, similarly the 22 did only a
part of the damage (a certain percentage), the rest was done by the 171°K; it had nothing to do
with the 7wa. Why should the w2 %2 pay for something which he did not do? It is similar to
713, as "W explained it. MdOIN rejects this explanation.

=PIV ONIY RNYN 1Y X0 TN byY
For perforce you must assume that presently the X723 maintains that when two

parties damaged jointly, it is considered as if -

- Haay x0T 19999 INNY T2y NPT N9 IND
This one party did the entire damage, and this one party did the entire damage.
The 71277 Hv2 and the 7w 9¥2 each did the entire damage.

mooIn will now explain why we must assume that presently the X713 maintains Xp>1i 717213 °Kn
121 Tav:
- Z95nnawn 79533 NNNT NAYO NYIN PPON KIT 119

"' The X113 in 7797 P9 explains the np12mn between 1" and the 1127 exists whether we maintain 7°2y 717 7°213 X1
491 or if we maintain 131 7°2¥ KT R399 X7, Our X3 assumes 7°2Y Xp 11 X213 °X7 (as moon will shortly prove).
"2 onowK 77°22 X0 is why the 1127 9v2 is required to pay regardless, since the death occurred in the 712.
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Since it did not, as of yet, enter in the mind of the jwpn, the reason of ‘I found

the ox in your pit’. This reason is first introduced in the answer of the X3; but not in the
question. Therefore since we do not assume this logic of 121 X710, therefore we must assume that
421 RPT 9910 ORI -

= Ay NPT NADO 1Y 9N D5 INT
For if we are to assume (now) that each one (the 7w Yv2 and the 1127 5va) did

only half the damage, then -
- POV DM A 19NT BYPYN NYHY 913N H¥a JN3 22495 Bna B nnb

Why according to 1'' does the 71277 v= have to pay three (fourths) of the

damage by a an, which is more than he actually damaged. If we were to maintain *x7
av Xpo1 210, we can understand why the M2 9¥2 pays three fourths, since he (also) did the
entire damage. Therefore we collect what we can from the 2w:7 %92 (which is one fourth) and the
rest the M277 Hv2 is required to pay, justifiably, since 72y Xp°17 210, However if 72y Xp 1 X9
then why should the 11277 Hv2 pay the extra fourth that he did not damage?!

- 219903 191179 919 199 1PN DY K92
And it is evident in 779977 P75 that without a valid reason we cannot obligate him
to pay. Therefore we must say that at this point the assumption is that 72y X177 79913 x1.'* The
same will apply in the case of P71°X) w2 that each part of the ox did the entire damage. How
then can we compare the case of M2 (which according to the 1127 is not a p°m) to the case of
2w where the w32 is a p°m2; and as a p°In we assume that 72y Xp°11 7°712, so the wan Hva
should pay for whatever we cannot collect from the 7"772°K!

Mmoo has an additional question on >"wA. It was mentioned before, that the proof according to
"1 is from the case of an; here purportedly the Wi %v2 pays half and the ™27 %v2a is Mwo.
Mmoo challenges this assumption:

= 999 921 YY) NENN 9IVN HYa BHYN DN 12957 XD 115D N M)
And furthermore how did the X923 know that according to the 3139, that by a

an, the 27 Sva pays half and the 21277 »y2 is M ws?
- NENN DYYN AN YY) NENN DYYN NUN Hya DNa XY
Perhaps by a an the =7 va pays half and the 21277 H¥2 pays half -
Bayima 299N M09 1N Y2y $9aNT 132

"3 The X3 there asks (for instance) if we maintain that 151 7°2y X171 R399 *Xi, why (according to 1"1) does the ¥a

7127 pay o°pon .

'* Seemingly the proof of Moo is (only) that 1" maintains 72v Xp*TA 721 *X7; it is possible that the 1321 do not

agree and they maintain 729 Rpr1 Ra99; therefore the Rv*w»o is valid that we cannot collect from the 7313 MW S¥a

IR, See 7w 0" who explains that since it is possible that the 73127 also maintain 72y Xp°17 79215 *Xi, then how

can the X3 ask Ruwo; if 72v K17 K912, it is not Xw*w» at all 021931, See also ‘Thinking it over’ # 1.

!> The ®n™12 (on &,31 A7) reads as follows: D9Wwn M H¥2 MK 1" MVD M7 DY 20 MW H¥2 MY 1720 IR ANTY N
[This Xn»™92 is discussing a Muad as the Gemorrah there concludes.] W WLARMA abwn AT Hya nxnn.
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and when the 1121 state in the Xn>72 that the =127 %2 is mwp; that is if it was a

7Y, However by a on they both pay half. There is therefore no proof altogether that the 3127
maintain X 220w X2 RN MPNWR? 83*H 0.

In summation: According to >"w1 the proof that the 1327 maintain 2%2nwn K2 XN "MPNWR? 8D *D
X1 is from the fact that if the Pran W is a an, the 127 9¥2 is completely M.

mooIn has two questions on *"wA. First, that by the 0% there is all the reason to pay since he
did the damage (and we must be assuming now that 72y X177 79913 °Ri7) however by the M2 the
71127 assume (according to *"w") that only the 7w did the damage. Two, where is it indicated that
by a on, the 7277 %2 is MWo?

mooIn offers his explanation:
= 9909 9121 J¥3) 29N NIVYN DY Y9INT 19297 PN 199297 NN

And the >''1 is of the opinion that when the j129 state that the 2w b2 is 290

and the 79277 bya is 1w -
= 59239 919 M0 YY) ¥ DN 1IN NENN DYWN NIYWH YYaT 1N

It means that the 2927 Y2 pays half of the entire damage if the P ran 1w was a
7y, and if it was a an, the 1w %¥2 pays a fourth of the damage; however the
71277 B2 is completely 29wp; regardless if it was a on or a Ty —

The reason the ™27 Hv2 is MW is (not as *"w1 explained that we do not consider him a p°m, but
rather) -
- MY NNY 99 251199 XYM 5931 X9 NIN 912 21090 2990 RHY

Because the 7770 obligated the 21277 Hv2 to pay only when the animal fell into the

712 by itself, as it is written ;7w ®239, and it fell into the 112 (meaning the animal fell

of its own accord) -
= 20 J¥32 9109 9132 N D991 DIINN ON YaN

However if others cause him to fall into the =12, then the =257 ®»a is "ws.

mooIn continues with the explanation of our X723:
= YYD J¥an ONYN RY NN J¥an MMITNYND XY 23 »IN KN XWITD 201D NOM

And the explanation here in our X723 is thus; ‘but the 73127 maintain that if
payment cannot be collected from the 71277 Y¥2 (because of the [just mentioned]

7119 of 7w 9911), it is not collected from the =i ®ya’ -
=999 NN TaY RPN NI NN 199 X907 2) hy 9N

Even though we presently assume (as Mmoo previously pointed out'’) that this

16 35,85 (D*voWwn) Mnw.
"7 See previous footnote # 14 that we are not able to prove conclusively that the 1127 maintain 72y Xp*17 791;
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one did the entire damage, and this one, etc. If the “Wwn 5v2 and the 7127 Hv2 both did
the entire damage, then if we cannot collect from the 127 ¥2 (on account of the ?109), the P2
should be able to collect the remainder'® from the mwn va who did the entire damage. The fact
that we cannot collect the remainder from the 2w %¥2 proves that (the 3327 maintain) &3>°% °3
RN DDA RY ORIN MPNLORY -

- NAN %39 )9 WM KD INMI JN5INN 1039 19Wan N PrT INnoIwo

And it is obvious that he cannot collect 3799158 731> J9wan; so what is R''9
teaching us when he ruled that 17>2°X 7313 17wan 7213 PR?!

mooin asks (a question similar to that which he previously asked on *"w"):
= 991 29199391 IND 290 VN HYAY 1929 29INRPT NXNT 1D 9NN ON)

And if you will say; how does the X723 know that when the 3327 stated =7 ®pa)
21, it does not mean he pays everything (if he is a **7v11)?*'

NIDDIN answers:
- w995 909 M1 Z99wn 5m5Wna 13299 11 939 51999 11 INT 9D W

And one can say that if 2''% and the 3139 are arguing concerning the payment

of the 9w, it should have been specified in the xn>2 that the 7327 disagree with 1. (the

view of 1"7 is clearly stated in the [two] mn»12) -
= N2 1N 2299 1190 NI YNY 1YW XD11IY

And since the X012 did not specify it, this indicates that the 7127 agree with 1''
in regards to the payments of the . A an pays p11¥°37 and a T a w"1.

mooin offers an alternate answer why we cannot assume that the Wi Hv2a pays a w":
= 99vN Hyab 5N 1329 *2NNT NN OXT NI
And furthermore if indeed the 7321 obligate the w7 %¥2 to pay everything, then -
$INNN NON OIYN PRT 9195195 1) 2399 7’0 N
1'' should have stated clearly that the Wi v2 pays only half to indicate that he
disagrees with the 031 (and not to [merely] state that he pays half).”” Therefore we must
conclude that 1"1 and the 1127 argue only concerning the 11277 9¥2; however concerning the 9v2
7w both agree that by a an he pays a pr1y°27 and by a 7vm a 1'n.

nevertheless NN question is valid in either case, whether we maintain X713 or 729 Xp>T7 X399,

'8 If the MW was [a 7v1n, the 7wi Y2 should pay a w"1 (not a 1"1) and if he was] a on, he should pay 1"n (not ¥°27
PTI).

" For (seemingly) it is the same situation.

%0 See ‘Thinking it over # 2.

U If the 7wi 9va pays everything (by a 791 and a 1" by a on), then we cannot derive that X2 "X "m>nwR? X9 *2
127, because they are already paying everything (that is possible).

** 1" maintains that a on pays a 1 3227 and a 797 pays a 1"f, and agrees with the 1321 in this (according to moon).
* Mmoo two answers resolve the question, from both the statement of the 1127 and from the statement of 1.
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SUMMARY

>"w1 maintains that the opinion of the 1127 is that the 71277 va is "o (because
[according to mM»on understanding] he is not a °m) and the 7w Yva has to pay a
1"n for a on and a w"1 for a 7%, We know that the 7327 maintain 217nWR? X2 %
XM D2Nwn X7 Ran from the fact that the 727 Hv2 is 7o by a on.

nMooIN maintains that by a an the MW %2 pays a P11 ¥°21 and by a 791 a 1"n. The
proof that the 13127 maintain that *Xi7 272nWwWnH RS X772 "MPNWRY 827 3 is from the fact
that the "W %2 does not pay for the exemption of the 1127 Hy2.

THINKING IT OVER

1. npoIn asks that since the X3 now assumed that 72y X177 X712 X7 we cannot
compare M2 to W Yw Mw.>* Seemingly it is not necessary to assume this in
order to challenge "w". The 73127 maintain (according to >"w") that the 712 is not the
P1n, however by onbw v W the w2 is certainly a p*in. Therefore we cannot
compare 712 to 217w MW; by 712 he is Mo (not because of K7 *Xmn "MIPNWRY KM KR
NI 2ownn, but rather) because he is not the P1»; however the wa is the Pn,
therefore we assume X 02NWwn R wPNWRY KDY 2.7

2. moon asks?® that how do we know that the 1127 do not maintain that the Mwn Hva
1s 21 for everything. Is this question limited to the 7¥1 or even to the an as

well??

3. How do we understand the idea that 121 7°2v Xp°177 77°913 °&i7? How can it apply to
T°R) w32 which are seemingly (only) one p1?°*

** See footnote # 14. The s'1"*w 0" explanation (also) requires some clarification. Why is it necessary to prove
that we are now assuming (according to 1"7) that 72y Xp°17 7713 *X7, even if we have no proof at all; we can
nevertheless ask how can the 7wpn say Xvws, when it is possible that the 1127 maintain 7°2v P°117 7913 °ki7. Why the
need to say 3"v?!

2 See avn MR 1" "N LR"PYY w7 and 0 MR 70 .

% See footnote # 20.

%7 See 5w MR >"Va,

% See H"¥17"72 19N MR 1" B0 and TR D MR 7"10.
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